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1. Answer the following questions : 1x5=5
‘(i) Define software enginee;‘ing.
(ii) Define coupling,
(iii) What is SRS ?
‘ (iv)‘Define software crisis.

(v) Explain about software maintenance.
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Answer ﬁe ‘folloWing questions:  2x5=10
(1) Wnte some challenges of software

gmeenng

E (ii) What is meant by'.:black-box testing ? |
(111) Dnscuss about software prototypmg
(w) Explain Bottom-up desngn.

Answel' any fi f‘ve questlons from the followmg
. $x5=05

Q) DreW the B-Rdlagram for libmry management. '

system. Make your own assumption about the
system. :

(ii) Write some challengs of software engineering,

| (iii) Explain software maintenance process,
(iv) Describe Gantt charts and PERT charts.
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(\2] Consnder a pro_lect wnth the following

' functlonal Units :

. Number of user inputs = 50
Number of user outputs . . = 40
Number of user enquiries = 35
Number of user filess = 06

Number of external inteffaces = 04 .

Assume all complexity adjustment factors and
weighting factors are average. Compute the
functlon point for the project. '

(v) What do you mean by object oriented
design ?

Answer any ﬁ)ur qQuestions from the following :
10x4—40

Descnbe size estimation technique in software

4,
' engmeermg

5. Explain briefly characteristic of a good Software
Requirement Specification (SRS).
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_' 6.' Descrlbe dlﬁ'erent types of couphng that can exist
7. Describe. COCOMO e | o Paper Code : CSIT-3.2 (Old)
" ‘Explain the watérfall model W1th some advantages (Distributed System)
and disadvantages, Full Marks - 80
9. Draw DFD upto [eve] 2 for student Result | - Time—Threg hours.
o boutgte:ele:;:em - Make your own assumption |  The figures in the margin indicate full marks
o o » : ' for the questions.
1. Answer any five of the followmg questions :
2x5=10
(a) Define distributed system. .
(b) What are the advantages of dlstnbuted'
systems ? ‘
(c) What are the dlﬁ'erent types of system.
- mode] ? }
(d) What is'the multlprocessor and multicomputer
system ? '
(6) Why we need openn&ss ?.
(D) What is access point?
(® What are the two reasons of rephcatlon of
data ? :
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2. Answer any ten of the followmg questlons

- 3x10=30 -

(@) Explain Remote Procedure Call (RPC)

- (b) -Elaborate perswtence and transnent communi- "

‘cation. ‘ _
(c) Explain Lo‘gieal_ Clock and Physical Clock.

(d) Describe about the client server communica-
- tion. o S -

(e) Ilustrate the architectures for multi-threaded
server. . S

() Explain Names, Identifiers, and Addresses.

(g) Differentiate between Weak mobility versus
- Strong moblhty

) Dlﬂ'e,rentlate between process and threaq,

(1) Explain the parameter passing
dlstnbuted commumcatlon “Pproaches in

‘) What is global state ? Explain in detail
) Define multicast eommunicetion.

() Explain the failure models in pyief
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3.

Explam the various de31gn goals. for Dlstnbuted

System with example. 10
4. What do you mean by Code migration ? Explain - .
the Reasons for Migrating Code and also explain
models of code migration. _ 10
Y. Wnte in brief about Bully election algorithm.
10
Or
Explam Dnstnbuted commlt approaches in bnef
c 4 10 :
6. Write short notes on any two : 5x2=10 -
() Checkpointing -
(b) Middleware
(¢) The X-Window. System (X).
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